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const int MAXN=1le5+5;
struct Left Heap
int root[MAXN/;
bool del[MAXN];
struct Node
int id,val,dis,ch ’
bool operator < (const Node &b)const
val<b.val| | (val==b.val&&id<b.id);

node[MAXN] ;
void build(int *a,int n
node .dis=-1;
_rep(i,1,n

node/i].id=root|[i]=i,node[i].val=alil;

int find root(int x x==root|x!?x:root|[x|=find root(rooti/x|);
void merge(int &k,int k1,int k2
'kl | k2 k=k1l|k2,void();

node| k2| <node|kl|)swap(kl,k2);
merge(node|k=k1l].ch ,hode[kl].ch ,K2);

node nodelk].ch .dis<node[nodelk]l.ch .dis
swap (node k|.ch ,nhode|k].ch ;
node| k| .dis=node[node/k].ch .dis+1;

void merge(int x,int y
del[x]||delly ;
int rt,pl=find root(x),p2=find root(y);
pl!=p2
merge(rt,pl,p2);
root/ pli=root/p2|=rt;

int top(int x
del|x -1;
node| find root(x)|.val;

void pop(int x

del|x ;
int rt,p=find root(x);
merge(rt,nodelp].ch ,hode(p!.ch ;
root p/=root/node/p!.ch =root|/node(p|.ch =rt;
del|p/=true;
heap;
int a/MAXN];
int main

int n=read int(),m=read int(),opt,Xx;
_rep(i,1,n
alil=read int();
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heap.build(a,n);
m__
opt=read int(),x=read int();
opt

heap.merge(x,read int o

’

enter(heap.top(x));
heap.pop(x);
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const int MAXN=1e5+5;
struct Left Heap
int root[MAXN/;
struct Node
int id,val,dis,ch ;
bool operator < (const Node &b)const
val>b.val|| (val==b.val&&id<b.id);

node[MAXN] ;
void build(int *a,int n
node .dis=-1;
_rep(i,1,n
node|i].id=root|/il/=i,node[i].val=alil,nodeli].ch =node[i].ch =node[i].d
is=0;
int find root(int x x==root[x|?x:root|[x/=find root(root|(x]);
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void merge(int &k,int k1,int k2

int

I'k1l]||'k2 k=k1l|k2,void();
node k2 <node|kl| )swap(kl,k2);
merge(node  k=kl].ch ,hodekl].ch ,K2);

node|node|k].ch .dis<node[node(k]l.ch
swap (node (k! .ch ,hode k]| .ch ;
node/ k| .dis=node[node[k].ch .dis+1;

merge(int x,int y
int rt,pl=find root(x),p2=find root(y);

pl==p2 -1;
update(pl);update(p2);
pl=find root(x),p2=find root(y);
merge(rt,pl,p2);
root|/pl/=root|[p2|=rt;

node|rt].val;

void update(int rt

heap;

int temp,Root;

merge(temp,node|rt].ch ,nhode[rt].ch ;
node/rt|.val>>=1;node[rt].ch[0/=nodelrt].ch
merge (Root, temp, rt);

root|/Root =root|rt/=Root;

int a[MAXN];

int main

int n,m,Xx,y;

gogd
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~scanf("%d",&n

_rep(i,1,n

alil=read int();

heap.build(a,n);

m=read int();

_rep(i,1,m
x=read int(),y=read int();
enter(heap.merge(x,y));

.dis

=node|rt].dis=0;
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const int MAXN=1leb6+5;
namespace Left Heap
struct Node
int val,dis,ch ;
bool operator < (const Node &b)const val<b.val;
node[MAXN] ;
void init node .dis=-1;
void merge(int &k,int k1,int k2
k1] | 'k2 k=k1|k2,void();
node| kl <node|[k2])swap(kl,k2);
merge(node  k=kl].ch ,hode[kl].ch ,k2);

node|node|k].ch .dis<node[nodelk].ch .dis
swap (node k! .ch ,hode k]| .ch ;
node/ k| .dis=node[node[k].ch .dis+1;

struct Heap
int tot,sz,rt;

int top Left Heap::node[rt].val;
void pop
Left Heap::merge(rt,Left Heap::nodelrt]|.ch ,Left Heap::nodelrt|.ch ;
Sz--;

void merge(Heap y
Left Heap::merge(rt,rt,y.rt);

tot+=y.tot;
SZ+=y.SZ;
heap MAXN | ;
int a/MAXN];
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int main

Left Heap::init();
int n=read int(),top=0;
_rep(i,1,n

Left Heap::nodeli].val=alil=read int()-1i;

heap|++top|=Heap{1l,1,1i};

top>1&&heap | top-1].top()>heap/top!.top

top--;

heap|top!.merge(heap|top+ ;
heap|top|.sz>(heap|top|.tot+

heap|top!.pop();

int pos=1;
LL ans=0;
_rep(i,1,top
_for(j,0,heapli].tot
ans+=abs(a/pos|/-heap[i].top ;
poS++;

enter(ans);
pos=1;
_rep(i,1,top
_for(j,0,heap/il.tot
space(heap/i!.top()+pos);
pos++;
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const int MAXN=3e5+5;
namespace Left Heap
struct Node
LL val, lazy ;
int idx,dis,ch ;
void set(int id,LL v
idx=id,val=v;
lazy[0]=1,lazy[1]=0;

bool operator < (const Node &b)const
val<b.val|| (val==b.val&&idx<b.idx) ;

node [MAXN | ;

void init node .dis=-1;

void push tag(int k,LL tagl,LL tag2
Ik ;

node k! .val=node k|.val*tagl+tag2;
node (k! .lazy[0/=nodel[k|.lazy[0]*tagl;
node k! .lazy[1l/=nodelk]|.lazy|1]*tagl+tag2;

void push down(int k
push tag(nodelk]|.ch ,hode k| .lazy ,hode k! .lazy ;
push tag(nodelk]|.ch ,nhode k| .lazy ,node k| .lazy ;
node(k].lazy[0]=1,node[k].lazy[1]=0;

void merge(int &k,int k1,int k2
Ik1l| | k2 k=k1l|k2,void();
push down(kl);push down(k2);
node| k2| <node|kl])swap(kl,k2);
merge(node|k=k1l].ch ,hode[kl].ch ,K2);

node/ nodelk].ch .dis<node[nodek!.ch .dis
swap(node k|.ch ,hode[k].ch ;
node| k] .dis=node[node/k].ch .dis+1;
struct Heap
int sz, rt;
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pair<int,LL> top
make pair(Left Heap::node|rt|.idx,Left Heap::nodelrt].val);
void pop
Left Heap::push down(rt);
Left Heap::merge(rt,Left Heap::node[rt].ch ,Left Heap::nodelrt].ch ;
Sz--;

void push(int idx,LL v
Left Heap::node|idx|.set(idx,v);
Left Heap::merge(rt,rt,idx);
SZ++;

void merge(Heap y
Left Heap::merge(rt,rt,y.rt);
SZ+=Yy.SZ;

Heap sz=rt=0;

heap [MAXN | ;

struct Edge
int to,next;

edge MAXN | ;

int head MAXN|,edge cnt;

void Insert(int u,int v
edge|++edge cnt|=Edgei{v,head|u]};
head|u|=edge cnt;

int alMAXN],s[MAXN],d[MAXN],ans1[MAXN],ans2[MAXN];
LL h[MAXN|,tag MAXN;
void dfs(int u

int i=head|u];i;i=edge[i].next

int v=edgel[i].to;

divi=dlul+1;

dfs(v);

heap/u!.merge(heap|v]);

heaplu].sz&&heap|/u!.top().second<hu
ansliul++;
ans2/heaplul.top().first|=d[u];
heap[u].pop();
heap/ul.sz

alu
Left Heap::push tag(heaplul.rt,tagiul,0);

Left Heap::push tag(heaplul.rt,1,taglul);

int main

Left Heap::init();
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int n=read _int(),m=read int();

_rep(i,1,n
hlil=read LL();
_rep(i,2,n

Insert(read int(),i);
alil=read int(),taglil=read LL

_rep(i,1,m
LL c=read LL();
s/il=read int();
heap|s(i]].push(i,c);

d[1]=1;
dfs ;
_rep(i,1,n
enter(ansl[i]);
_rep(i,1,m

enter(d[s|i]]-ans2[i]);
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